multiplikation av brék (blandad fraktion)

namn: Datum: Poéng:
2 6 2 |
— X — = — X3—=
4 8 3 2
2 2 1 3
_xl_: — X — =
4 3 7 9
1 4 2 2
= x == — X = =
2 9 8 7
4 6 4 5
—_ X = = — X — =
5 9 9 8
3 2. 7L
0 4 8§ 3
1 3 1 4
— X = = 1—)(—:
6 7 2 6
4 1 5 2
5157 6157
3 2 I 3
— X — = — X — =
5 7 7 5
13512 = 3 3
4 4 8 7
éx%: %le:
7 6 2
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multiplikation av brak (blandad fraktion)

Datum: Poéng:
237 5]
3 2 3 3
1 3 1
- X - = —

7 9 21
2 2 1
- X - = —
8 7 14
4 5 5
- X — = —
9 8 18
8 3 6 6
11xdoy
2 6
5 2 7 |
6 1576 1%
1 3 3
— X - = —
7 5 35
3 3 9
- X — = —
8 T 56
3,1 5 1
6 "2 4 4
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